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Base your answers to questions 71 thlough 73 on the diagram of a voltaic cell and the balanced ionic
equation below.
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Mg(s) + Ni2*(aq)—> Mg2*(aq) + Ni(s)

71 What is the total numbel of moles of electrons needed to completely reducoles
of Ni**(aq)ions? [1] 3
lj(/‘// t2e” —> AN, ) Srs: g2 nch e-
‘72 Identify one metal from Reference Table J that is more easily oxidized than Mg(s). [1]

mefat sbnve [h¢ L mere active (ﬁvm castfy ")crd/zcyy.
73 Explain the function of the salt bridge in the voltaic cell. " [1]
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29, The diagram below represents an electrochemical

@The diagram below represents a voltaic cell. cell.
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Pb(s) + Cu¥*{aq) —> Pb?*(ag) + Cu(s)
+ g 2+ A
Wik holan Ma®laq) #2hgla ~ Which change occurs when the switch is closed?
Which species is oxidized when the switch is closed? © Pb is oxidized, and electrons flow to the
©) Mg(s) (3) Ag(s) Cu electrode.
(2) Mg?*(ag) (4) Ag*(aq) {2) Pbis reduced, and electrons flow to the
Cu electrode.
{3) Culis oxidized, and electrons flow to the
Pb electrode.
(4) Cu is reduced, and electrons flow to the
Pb electrode.
(1) oxidation occurs at the cathode Ah ox § rek caf 30. Consider the following ¢ quation.
24 7 :
et el ) 2Cr(s) + 3Cu*(aq) — 2Cr3*{(aq) + 3Cu(s)

@ the concentration of Zn?*'increases
{4) the concentration of Cu?* increases

Which reaction occurs at the cathode in this voltaic
cell?
) reduction of Cu?*(ag) y 3 :
coucrioN Ox/
(2) reduction of Cu{s) {1 / x10 %
(3) oxidation of Cr**(ag; ; i
(4) oxidation of Cr{s}



